LO: To use the inverse to solve addition and subtraction calculations
Can you fill in the missing gaps? Use your knowledge of inverse operations to help you.
1) 237 +  ___   = 104			4) ___ + 1268 = 4180
2) 540 - ___   = 293			5) 3213 - ___ = 1164
3) 931 + ___ = 1042			6) ___ - 7156 = 1401
LO: To use the inverse to solve addition and subtraction calculations
Can you fill in the missing gaps? Use your knowledge of inverse operations to help you.
1) 237 +  ___   = 104			4) ___ + 1268 = 4180
2) 540 - ___   = 293			5) 3213 - ___ = 1164
3) 931 + ___ = 1042			6) ___ - 7156 = 1401
[bookmark: _GoBack]

